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 Linear Mixed Model code and output from R

#import data
Tree<-read.table("Hollows_data.txt", sep="\t", header=T)

# DBH_cm = tree diameter at breast height in cm
# R_Hollow = hollow size (in cm)
# DBH_Pr = probability of hollow occurrence
# fSpp = tree species
# fOBSER = observation


#logit transform probability of tree hollow
Tree$lDBH_Pr<-logit(Tree$DBH_Pr)

#log transform hollow size
Tree$LogHollow<-log(Tree$R_Hollow)

#run model
M<-lmer(DBH_cm~ lDBH_Pr + LogHollow +
 (1 + lDBH_Pr|fSpp) + (1|fOBSER), data = Tree,
 control=lmerControl(optimizer="bobyqa", optCtrl = list(maxfun=100000)))

Linear mixed model fit by REML ['lmerMod']
Formula: DBH_cm ~ lDBH_Pr + LogHollow + (1 + lDBH_Pr | fSpp) + (1 | fOBSER)
   Data: Tree
Control: lmerControl(optimizer = "bobyqa", optCtrl = list(maxfun = 1e+05))

REML criterion at convergence: 4589.4

Scaled residuals: 
    Min      1Q  Median      3Q     Max 
-4.6169 -0.2665 -0.0205  0.2228  4.6747 

Random effects:
 Groups   Name        Variance Std.Dev. Corr
 fOBSER   (Intercept) 326.86   18.079       
 fSpp     (Intercept) 612.90   24.757       
          lDBH_Pr      53.10    7.287   0.46
 Residual              89.89    9.481       
Number of obs: 528, groups:  fOBSER, 299; fSpp, 71

Fixed effects:
            Estimate Std. Error t value
(Intercept)   46.019      3.775  12.190
lDBH_Pr        9.980      1.414   7.059
LogHollow     11.131      1.385   8.035

Correlation of Fixed Effects:
          (Intr) lDBH_P
lDBH_Pr    0.273       
LogHollow -0.446 -0.002
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Figure S1(a).  Plot of model residuals (Pearson) and fitted values derived from the linear mixed model	Comment by Julie Cantrill: Please use black and white for this figure
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Figure S1(b).  Plot of observed tree diameter at breast height (DBH) (cm) and fitted tree DBH (cm) derived from a linear mixed model.
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